Прототипы заданий № 21

1. Решите уравнение 
2. Решите уравнение [image: image1.png]X H2x+1)=2(x+1)



.

3. Решите уравнение [image: image2.png]x+2) ' —4(x+2)°=5=0




4. Решите неравенство [image: image3.png]


.

5. Решите неравенство [image: image4.png]


.

6. Решите неравенство [image: image5.png]


.

7. Решите неравенство [image: image6.png](x—4Y <V3(x—4)



.

8. Решите систему неравенств [image: image7.png]



9. Решите неравенство [image: image8.png](3x=7)" > (Tx—3)°



.

10. Решите неравенство [image: image9.png]


.

11. Решите систему неравенств [image: image10.png]T(3x+2)—3(Tx+2) > 2x,
{ (x—4)(x+8) <0




12. Найдите значение выражения [image: image11.png]


 при [image: image12.png]


.

13. Найдите значение выражения [image: image13.png]ax—%
2Va-3y



, если [image: image14.png]V=T



.

14. Сократите дробь [image: image15.png]


.

15. Найдите значение выражения [image: image16.png]


, если [image: image17.png]


.

16. Найдите значение выражения [image: image18.png]=

=

=l



, если [image: image19.png]pb) = (’”Z) (‘erZ



.

17. Найдите значение выражения [image: image20.png]


, если [image: image21.png]2a—T7b+5
Ta—2b+5



.

18. Найдите [image: image22.png]


, если [image: image23.png]flx—1)=7%*



.

19. Решите уравнение [image: image24.png](x+7) =49 (x+7)



.

20. Решите уравнение [image: image25.png]4+ ¥ =9x+9



.

21. Решите уравнение [image: image26.png]


.

22. Решите уравнение [image: image27.png]


.

23. Решите уравнение [image: image28.png]


.

24. Решите уравнение [image: image29.png]


.

25. Решите уравнение [image: image30.png]


.

26. Решите уравнение [image: image31.png]X =(x—5)°



.

27. Решите уравнение [image: image32.png]204+ 7x+3 1
2—-9



.

28. Решите уравнение [image: image33.png]


.

29. Решите уравнение [image: image34.png](@ —25)"+ (¥ +3x—10)



.

30. Решите систему уравнений [image: image35.png]3 +y=4,
28 —y=1




31. Решите систему уравнений [image: image36.png]2043y =11,
4246y = 11,




32. Решите систему уравнений [image: image37.png]{

(x+6y)
(x+6y)

=Ty,
=Tx.




33. Решите систему уравнений [image: image38.png]5y,

x+3) o
{G

(3x+2)




34. Решите систему уравнений [image: image39.png]



35. Сократите дробь [image: image40.png]183
3375 a2



.

